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SECTION A: MATHEMATICS 1 easytvet.comy

Answer af leaxi TWO guestions from this section,

In a construction site having three technicians, technician A works for nine consécutive
days befure taking one day off. Technician B works for twelve consecutive days before
taking one day off. Technician C works for twenty one days before taking one day off.
Afier how long will the site have no technician? (6 marks)

Salve the following leaving your answer in fraction in its sirtiplest farm,

88340278 (2 marks)
Convert 0,78 into-a fraction. {4 mirks)
Solve the equation: Logs{x—2)+ Log:(2x+3)=12. (8 marks)
Transpose & —P =yr'+ L' 1o make ¢ the subjeet, ,f‘ﬁ-‘:; (3 mincks)
o LT
.1.-
Solve the siumultuneots equations: F‘;ﬂr
. ol
Ly i&,
Jrt4p =13 A a _'
dr— 3y =20 e
The figure | below shows a metal template. IF the il arca is 425 .6 o’ find the value
ofr. (4 mmrks)
N /
I I
T
14.0¢m
= X
= 210 cm ol

Figiire 1

The third, fourth and Gfih terms of a geometric progression (G.Pyare: t + 3, t + 5 and
1+ 18 respectively.

(i} Find the value of t; (2 marks)

(i} Find the sum of the first 10 terms. (6 marks}

Calealate the geometne mean of 4 and 64. 12 marks)
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ie) The moisture content m percentage (%) of fifteen { 15) samples of umb@aﬁtvEt' COITI
determined m a laboratery and are shown bebow:

15, 11.5, 14, 11, 12,13.5, 10, 125,13, 13,3, H 4,136, 10.5, 12.8 and 9.8

Calculate the mean, mode and median, (4 marks)
& {a) IF Eiuh'=%mﬂﬂ:ismtti

{iy  Find Cos Aand tan*A. (2 marks)

(i Sec’A. {4 marks)

() Given Sine A= %7 und CosB = 57, and thatall the angles are ncate.
find Sin (A +B)= gin BCosA. (4 marks)

{c) " The crushing sirengths {units in Nimim ) of fifty concrete cubes are given below.
Group the data imto seven clugses between thirty two {327 1o Gty two (32)

45 4 46 4037 40 35 40 WM A3 W
3539 38 46 45 44 34 50 35 W a8
&7 A% 3T Ay sh - 30 4641 AL ST &2

‘:L 3 40 38 47 4% 49 500 48 44 43 51
5 e ¥
(i Find the lregquency of euch group. {4 marks)
(1) Cileulate the mean and modal class, {6 marks)

SECTION B: PHYSICAL SCIENCE

Answer at least TWO questions from this seciion.

X fa) Deéfine the following lerms:

(i} Atoms;
(i) eclements;
(i) compounds,

(4 marks)
ih}  Describe the structure of an atom. {6 marks)
ey o) Describe two methody of salt preparation. {4 marks)

(5} Outline an experiment to distinguish between the acids and bases i a luboratory.
{2 marks)

(d)  State four propertics of a base. {4 marks)
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S 21.COI
. (a) (i) Desenbe two methods of separating a mixtere of two solids. e }{;‘ﬂ;&ﬁ?ﬂ -

(i)  Differentiate between chemical and physical change. (2 mearks)
(b} State any Four basic physical quantities and their .1 units, (4 riarks)

i) A hall metre rule is pivoted at 30 cm mark, 178 mass of 10 g is placed at 50 cm mark
and it balances horizontally, sketch a diagram showing all the forces acting on the half
metre riule and find its mass. {6 marks}

(dy  With the aid of sketches. illustrate the following types of equilibrivm:

(i) stable;
i1} unstable;
{iii)  neotral,
(5 marks)
W (i) An eleciric tratn moving al 20 kin/hr accelecates w4 speed of 30 kmvhir in 20 seconds.
Find the aversge acceleration in metres per second square (mfsec”) and the dissance
travelled i metres during the period of the acceleration, (& marks)

by The following results in table 2 were obtained when stretching # copper wire,

Table2
gﬂﬁ o |os |10} 15|20/ 25 30| 35| s0]a1]az
Length { :
(M) A0 5005 [ 5010501515020 5040 S16.0 | 5250 | 573.0| 5970 | 6100
{i) Plot the graph of load againgt extension, (4 marks)
i
(i) Indicate the main features of the graph. (4 marks)
(e} Inapump station a plant operator found that o waler pump lifts 200 kg of water through
# vertical height of 6 m in 10 seconds, Calculate:
{1} wark done;
{il}  power of the pump.
(6 marks)
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